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Subtracting without Regrouping Name:
Solve each problem. Answers
1
) 697 2) 5,229 3 28 4) 286
- 180 - 1,002 - 15 - 145 2
3.
4.
5 2,582 6 88 7) 548 8 6,157 >
- 130 -1 - 306 -5,034 6
7.
8.
9 79 100 835 11) 9,538 12) 95 9.
- 58 -312 -5,014 -12
- - - - 10.
11.
12.
13) 747 14) 7,815 15) 29 16) 424 13.
- 302 - 3,203 - 3 - 200
- - - - 14,
15.
16.
17) 4,643 18) 39 190 0986 20) 7,323 17
-2,512 -22 - 531 - 5,001
18.
19.
20.
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
N 517
1) 697 2) 5,229 3 28 4 286
- 180 - 1,002 - 15 - 145 » 4227
517 4,227 13 141
3, 13
4 141
5 2,582 6) 88 7) 548 8 6,157 > 2452
- 130 -1 - 306 - 5,034 . g7
2,452 87 242 1,123
. 242
g 1123
9 79 10) 835 11) 9,538 12) 95 9 21
- 58 - 312 - 5,014 12 £3
21 523 4,524 83 1o
n 4524
12 83
13) 747 14 7815 15) 29 16) 424 13 445
- 302 - 3,203 - 3 - 200
445 4,612 26 224 1. 4612
15, 26
16. 224
17) 4,643 18) 39 19) 986 20) 7,323 - 2131
- 2,512 - 22 - 531 - 5,001
2,131 17 455 2,322 18. 17
1. 455
20, 2322
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
21 4227 2452 83
13 517 1123 141 1.
242 523 4524 87
2.
) 697 2) 5,229 3 28 4) 286 3.
- 180 -1,002 - 15 - 145
— I — — 4,
5.
6.
7.
8.
5 2,582 6) 88 7) 548 8 6,157 0,
- 130 -1 - 306 -5,034
- - - - 10.
11.
12.
9 79 100 835 11) 9,538 12) 95
- 58 - 312 -5,014 -12
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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